


B = KB B x 2 /3
T @ /@A /@A 5 Pt noE % =
HERE | BitHE
ERTT
fEEIT
A—Fohv MELT m3 1983.5 2,000 94K
B+T
KA W=4.0 m3 234.3 230 BV1
ikt W=4.0 " 79.2 79 BV4
" 2.55W<4.0 " 0.0 0 BV5
" W<2.5 " 23.1 23 BV6
ELanE
s m3 1731.0 1,700
LT
KR MEL m3 200. 2 200 14K
2R L W1<1.0 " 70.7 7 B4-D
R L m2 134.8 130 T
EEER
Bt EEER m2 26. 4 30 NK4
BEYMRET
BEYERZELT
OV — REEEL m3 13.2 13
TAI7IL LRIERY t=bcm m2 66.0 66
WEEET
SRTITHREE T
15 EHh Bk HEEE S S 2mK i m3 17.4 17
25 E e VREES S 2mK i " 13.8 14
PARRR R ¢35 m 58.7 59




M E B E X 3/ 3
T @ /@B /@ A B % Pt % = W =
HEME | BamE
HKEMT
KT
12 URIK R " 34. 4 34
25 UB KR " 16.4 16
ST
125k & i i
25 &K " 1 1
BET
EEERYJIFLUE ¢ 300 m 2.5 3
TLE ¥ A RO R B900-H600 m 16.3 16




T+ T #BER

I fE|%#FE A|lL M| £ & Rit#H= & =
malT | EE 94K m3 1,984
iR T m3 200
R L m3 135
Bt+T | mt | BE BV1 m3 234
B4k BV4 m3 79
B 1K BV6 m3 23
BEL B4D m3 7
EET | EEER m2 26
% + g3 ) 7% 4 m3 1,731 1,984+200-

(234+79+23+71) /0.9




T #HE K M =
% M - B BARE # = &
REIA— T ME L 94K m 1983.5
® K W=4.0 BV1 m 234.3
® K W=4.0 BV4 m 79.2
" 2.5=W<4.0 BV5 m 0.0
" W<2.5 BV6 m 23.1
Bt 5 m 336.6
EEER B+ 0 NK4 m 26. 4
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kYR |

8

it B R

A s | YEEIA— T 2 (94K) E%lr:E W=4.0 (BV1) .
WiEm | F | R Mm@ | P R BE | F8
NO. 29 0.0/ 0.00] 0.0
NO. 29+20 20.0 3.9 1.95 39.0
NO. 29+40 19.9 | 12.3] 8.10| 161.2
NO. 29+60 19.8 | 20.0/ 16.15 319.8
NO. 29+80 19.8 | 23.5| 21.75 430.7
NO. 30 19.7 | 24.5/ 24.00 472.8
NO. 30+20 19.7 | 23.9 24.20| 476.7
1.0 | 23.9] 23.90] 23.9
&t 119.9 1924. 1
HERATEIL R
0.0 1.8 7.1

NO. 1 11.0 1.8/ 1.80| 19.8 7.1| 7.10] 78.1

22.0 1.8/ 1.80| 39.6/ 7.1| 7.10/ 156.2

B 33.0 59. 4 234.3

a i 152.9 1983.5 234.3




kYR |

tT IH o oE o=
| A 9 B BR{A W=4.0(BV4) E%Pk 2.5=W<4.0(BV5) | &K W<2.5(BV6) .
Brim | T R WE | P | Mm@ FH | K]
NO. 29
NO. 29+20 20.0
NO. 29+40 19.9
NO. 29+60 19.8
NO. 29+80 19.8
NO. 30 19.7
NO. 30+20 19.7
1.0
&t 119.9 0.0
B RETEILR
0.0 2.4 0.7
NO. 1 11.0 2.4/ 2.40 26.4 0.7, 0.70 1.1
22.0 2.4 2.40| 52.8 0.7 0.70) 15.4
H 33.0 19.2 23.1
a8 F 305.8 19.2 0.0 23.1




T PO E %

A 5| g HEER BIE (NK4) | .
Wi | Fy | R MmE | P R W@ | P | ]
0.0
NO. 29 4.9
NO. 29+20 20.0
NO. 29+40 19.9
NO. 29+60 19.8
NO. 29+80 19.8
NO. 30 19.7
NO. 30+20 19.7
1.0
&t 124.8 0.0
B RATE LR
0.0 0.8
NO. 1 11.0 0.8/ 0.8 8.8
22.0 0.8/ 0.80 17.6
i 33.0 26.4
& & 315.6 26. 4




B % £ T #E K M =
& W S B | #® =3 "o =

BR 12 MEL 14K m’ 177.2
" m 23.0| kTrTEHEELY

&t m° 200. 2

KL T m” 112.6
" m? 22.2| HEKILIEHEEZEKY

&t m? 134.8

12 R W<1.0 B4-D m’ 63.7
" m 7.0] BEKITLISHEEZKY

st m’ 70.7
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EELT IR & ® =

Al & BB R#E (14K) ' R (B4-D) ’ KL T) .
ME | Ty | B | W@ T | B HmE | FH &
NO. 29
NO. 29+20 20.0
NO. 29+40 19.9
NO. 29+60 19.8
NO. 29+80 19.8 1.1 0.55 10.9 0.4/ 0.20 4.0 0.4/ 0.20 4.0
NO. 30 19.7 1.2 1.15 22.7 0.6/ 0.50 9.9 0.4/ 0.40 1.9
NO. 30+20 19.7 1.2) 1.20, 23.6 0.7/ 0.65 12.8 0.4/ 0.40 1.9
1.0 1.2 1.20 1.2 0.7/ 0.70 0.7 0.4/ 0.40 0.4
&t 119.9 58.4 2].4 20.2
B R AT = LR
0.0 3.6 1.1 2.8
NO. 1 11.0 3.6/ 3.60] 39.6 1.1 1.10] 121 2.8/ 2.80] 30.8
22.0 3.6/ 3.60] 79.2 1.1 1.10] 24.2 2.8/ 2.80] 61.6
H 33.0 118.8 36. 3 92.4
A & 152.9 171.2 63.7 112.6




miERLI # B & B =
s M - I By | & =3 wm =
CoBRi L men -5m<H<5n o i’ 13.2
AsIEZER Y t=5cm HT i’ 3.33.3/0. 05=66. Om2




ERiE LT S T

g5
CoBREE L (CT) AsIZZELY (HT)
B A | I B sz
Wi | Tty | | ME | W | B ME | T | B
HERE LR
0.0 0.4 0.1
NO. 1 11.0 0.4 0.40 4.4 0.1 0.10 1.1

22.0 0.4/ 0.40 8.8 0.1 0.10 2.2

33.0 13.2 3.3
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8.9
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ENABEEE HELFR

avo1)— bk  ock=18N/mm2
B INEUHREE (A) BEhA HEEE FEh R
H=0.5~1.0 H=1%&8Z2%k# H=2.0~5.0
15EHhABERE 17.317
25 E h R 13.82
&5t 31.19




J0vy Y iRER: HEEFR

% a3 3] 1% BT 2 ]
J0y Y EmEE £35¢m m2 160. 2
ESUN s RC-40 m3 64.7
A >o1)—F o ck=18N/mm2 m3 32.1
K14 7 Vp50(T 1 L3 —1F) m 25. 6
i m 96. 6




EhA i & B
iz B £ K 1
NO. 0+2.17 ~NO. 0+16.78 i 12.2
NO. 0+16.78 ~NO.  1+5.63 i 8.9
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.




IS ENRBERHE

s w20k B R
E | T | | E | TH |
(%)

NO. 0+2. 17 0.00 1.42 1. 71 1. 71
2.78 1.40 | 1. 410 3.92 1.70 | 1.705 4.74 1.70

NO. 0+8. 00 2.32 1.39 | 1.395 3.24 1.69 | 1.695 3.93 1.69
NO. 0+9. 94 1. 47 1.38 | 1.385 2.04 1.68 | 1.685 2.48 1.68
NO. 0+12. 22 1.73 1.42 | 1.400 2.42 1.7 1.695 2.93 1. 71
EC. 1 2.03 1.48 | 1. 450 2.94 1.76 | 1.735 3.52 1.76
NO. 0+16. 78 1.86 1.54 | 1.510 2.81 1. 81 1.785 3.32 1. 81
it 12.19 17. 37 20.92 1<H<2

T4 5=20.92/12.19=| 1.72

5 12.19 17. 37 1<H<2




25 BARERNE

we ma 7Yt THE R
wE | T | m | E | TH | R
(%)
NO. 0+16. 78 0.00 1.62 1. 81 1.81
NO. 0+18. 00 1.22 1.60 | 1.610 1.96 1.79 | 1.800 2.20 1.79
NO. 1 2.01 1.54 | 1.570 3.16 1.75 | 1.710 3.56 1.75
NO. 1+5. 63 5.65 1.54 | 1.540 8.70 1.75 | 1.750 9.89 1.75

&t 8.88 13. 82 15. 65 1<H<2

F5=15.65/8.88= 1.76

H 8.88 13. 82 1<H<2




70wy REEEE

BoR | THomERE () 28 9 Hix =IRE JovsE
FHE () [FHRE M| B 02 | @ m2) [F5 m2) [ @)
AEER | Gt
NO. 30
11 +20 0.00 2.80 1. 400 0.00 1.14 0.570 0.00 2.50
+22. 25 1.83 2.80 2.800 5.12 1.14 1.140 2.09 2.50
NO. 1+2. 83 1. 60 2.80 2.800 4.47 1.14 1.140 1.82 2.50
NO. 1 2.75 2.80 2.800 1.69 1.14 1.140 3.13 2.50
&t 6.17 17.28 1.04
TEITE R A | GisK it Ea )
NO. 41 0.00 2.80 1. 400 0.00 1.14 0.570 0.00 2.50
NO. 42 20. 09 2.80 2.800 56. 25 1.14 1.140 22.90 2.50
1 +6. 96 6.99 2.80 2.800 19.57 1.14 1.140 1.97 2.50
NO. 1 25. 41 2.80 2.800 71.15 1.14 1.140 28.97 2.50
B 52.49 146. 97 59. 84
PEPIERIERR |2. 00%1. 80%1. 118= 4.02 |m2
REFIEREERR  |2. 00%1. 08= 2.16 |m3
= 58. 66 160. 23 64.72




B A oy o iR
Javy o (1Y)

X o
R R = &* Hn =
V=160. 23%0. 20=32. 05
fAa>o1)—Fk 32.05 m3
KikNA T
VP ¢ 50 160. 23/2. 5%0. 40 25.64 m

£t 5. 16+51. 43 56.6 m
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100 310
o
>
7
.3’50
e
ol —
([{=]
[N} b T
8 8
410
& Al iR ¥ Hi = = i:-Livd # =
HUED)
avyl)y—4k ock=18N/mm2 | (0. 41%0. 26-0. 31%0. 16/2) *10. 00 m?® 0.82
Eiup 3 INEY (0. 26+0. 10) *10. 00 m-> 3.60
B #th44 t =10mm m? 0.08




HKkEEY I B2 K &
% i 3] % | B =1 i

KB T

1S UK ER m 34.4

25 URIK B m 16. 4
EY/ 8/

15 57k #t Uizl 1.0

25 &K Uizl 1.0
ERT

EEERVIFLUE ¢ 300 m 2.5
TJLFv R bRV IR B900-H600 m 16.3




+ I i B £
10m& Y (14 FHY) u 8
- } FR1E # R FR1E 1 R
LE R S =Sl p—— HEE
Eelte | = | ®m=p | £ | EHILe | #BEc | #ED | E
H=5 H=5
TLEx¥RFRYH R
B900-H600 16. 3m 14.1 4.3 13.6 23.0 7.0 22.2
& i 23.0 0.0 7.0 22.2




UBY K B& T 53 i
iz & E R 1

TEHER

NO. 41+7.8 ~NO 43+0.9 34.4
B RATE LR

NO. 0+5.4 ~NO 1+4.5 16.4

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

NO. ~NO.

B 34.4

16.4




15 U BKERAIEE F 195

B oA BB il : 2
WiE | T | B E | T WiE |
NO. 41+7.85 0.403
NO. 42 12.16 0.367| 0.385 | 4.682
5.50 | 0.350] 0.359 | 1.975
BC. 12 1.49 0.350] 0.350 | 0.522
NO. 43 13.95 0.350| 0.350 | 4.883
NO. 43+1. 28 1.31 0.350] 0.350 | 0.459
B 34. 41 12. 521
T 12.521/34. 41= | 0. 364m




= I K = =
15 UR K % M EIEEE
700
150, 400 150
3 avy)—hk
B = 0 ck=T8N/mm2
Lo
)| & “
S| &
Lo [e!
Lo
8 A W
= i f PR R
RC-40
50 700 50
800
i& Rl 18 1% 5t -1 = B 8 B
10. Om24 U
avHy—k o ck=18N/mm2 | (0. 70 % 0. 514-0. 40 x 0. 364) x 10. 00 m? 2.14
B INEY (0. 364+0. 15) x 4 x 10. 00 m? 20. 56
B #h %t t=10mm m? 0.21
RERR RC-40 t=150 [0.80x 10. 00 m? 8.00
A ETTTT0 =] - ==
25U K % M E T B =




1200

150 900 15Q
avyy—=+F
o ck=18N/mm2
. ~
= s
2
g B it
—_ 0 é gjs 9 "
RC-40
50 1200 150
1300
g Al b3z % &t = = By # £
10m%3 Y
avoy—+ ock=18N/mm2 |(1.20x0.70-0.90x0.55) x10.00 m? 3.45
i 2 INEY 0.70x4x10.00 m? 28.00
B # # t=10mm m?2 0.35
BRERE RC-40 t=150 |1.30x10.00 m?2 13.00




Y/ T 53 i
iz & E R 1
B RATE LR
NO. 0+5.0 ~NO. i 1.0
NO. 0+3.0 ~NO. a 1.0
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
1.0

1.0




15 5K HEHEE

gl

800
150 500 150

3
8 - ;
ya \
1
g / \
PU1-B300-H300
BRERYIFLE 500
¢ 300 150 500 150
av2—F

/0 ck=18N/mm2

T

-

600

750

LO)|
Lo

?tﬂ

800 }i[)
900 |

BEERE /)
RC-40

i bl R 1% &t 1 = B #H E
EEEEK,
aroyly—+k o ck=18N/mm2 0.80x0.80x0. 75—0.50% 0. 50 x 0. 60 m® 0.33
it} 7 INEY (0.80+0.50) x0.75x 4 m? 3.90

Ba AR RC-40 t=150 |0.90x0.90 m? 0. 81




= K =0 =
25 £ KW M=t HEE
£ % L 30%30 X < E:
0 2 25Uz ke S
15URKER §
N o] g |
7% L 50450 =
T 4 150" e "IEO:' ‘ 12.152
— 11.700
— [ g] g |
' ' =
b i 5
%CE%E 1600 50
i Al i3] % it = = B Hn =
LGiER,
1.60x1.60x0.85—1.20x1.20%0. 70— (0. 40
avyl)—k o ck=18N/mm2 | x0.452+0.90x0.55) x0.15+0.15%0.5%0. 70| m? 1.10
X2
(1.60+1.20) x0.85x4-0.40x0.452%2-0.90
i # INEY x0.55x2+0.452 x0. 15 x 2+0. 55 x 0. 15 x m2 8. 89
2+40.15x0.70 x4
HaEm RC-40 t=200 |1.70x1.70 m? 2.89
AELM 400 x 452 #® 1.0
900 x 550 " 1.0




BEEERYIFLUE 300 iE 53 i
iz & E & 1
T8 R T LR
NO.  O+1. 04k ~NO. 2.5
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.

2.5




¥+ R ARy % ZBI00-HE00 3 53 i
iz & . A i & 1
RCE LI pEAIIE
NO.  1+4.5 ~NO.  1+11.0 y:3 6.6
NO.  O+1.34ik ~NO. R 9.7
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.
NO. ~NO.

16.3




JLXxYRIRYT X

HEHEE
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900
PAVE R AN .
/ L B900-H600
Ve
(e ]
3
N\ / BELAIL
1:3
r-,*o
S o ~J
o (] ” HLavsglj—k
w2 **Hﬂé ;’*’# o ck=18N/mm2
3
1 1160 0 RC-40
1360
& Al iR ¥ H g = =R (v # =
10m4 L)
TLEYR FRYSI R B900-H600 & 5.0
HLarvsyy— | ock=18N/mm2 t=100|1. 36 x 10. 00 m?2 13. 60
no Ep 0.10x2x10.00 m? 2.00
HELZIL 1:3 1.16x0.02x10. 00 m?3 0.23
MR AR RC-40 t=150 [1.36x10.00 m? 13. 60
+ T H=0. 8m
K T 1.76 x0.80x 10. 00 m? 14.1
R D 14.1-(1.36 x0. 25+1. 16 x 0. 55) x 10. 00 m?3 4.3
HEERIE 1.36%10.00 m? 13.6




